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e 18
iTutul No of Pramted Pages

| cach
Section=A

Lo The number g
(A) Odd number

(B)  Rational number

thnher

‘(Dl None of these
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¢ 2)

. > are °
2. Zewes of the polynonial 37 4+ Sy - 2 ™

(A =2

l . |
(B -7.2
) 3

AD)  Nohe of these

The pair of linear equations x-2y=0 and 3x+4)--20=“ "
(A)  Parallel

(B)  Intersecting

((]1) Coipefdent

(D)  None of these

OMARM(SZ)JKUT2024—1003-Y
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«( 3)

4. 15
m of e AP : 2,7 12, .. TR

(A) 62

(B) 29
(C) le,
(D)  None of these

. o b )
5. sint30° + cos2 60° s equal to :

3
(A) :‘-
(B) 1
|
(©) y

(D) None of these

10MARM(SZ)JKUT2024—1003~Y
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¢
ym l.h .
a |mml n

{] e distme o
Ay Opdinaie

(i Cootdinate
() Absaissag,
(1 None of these
7. LOCM. of 6 and 20 0

(A) @

(BY 60

)y 20

(1) None of these
10%ARM(SZ)IKUT2024~1003-Y
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Si T L]
Ihe Plnhuhllity of a leap year selected at random contins 53

Sundays {y -

S
Ay ol
(A 166
|
B -
() 7.
53
C) —
©Y 365

(D) None of these

Y. A C)’Iilldl’icul pcm:i[ hhurpgngd at one cdge is a combination ol

W and a cylinder

(B) A hemisphere and a cylinder
(C) Four cylinders
(D) None of these

10"ARM(SZ)IKUT2024—1003-Y
A-3-Y
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o wl) I8
T Poawenumant of the quadiatie equition Vasvedsd

tA) 28
M -8
l&'l N

(I None of these

I'l. Prime factorization of SUMI is I x T x 1L x PR} (True/False)
12. The sum of first 100 positive integers is :

(A) 5000

(B) 5050
(C) 5005

(D) None of these

IRM(SZ)IKUT2024—1003-Y
2 ¢
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3
L35 can be i
- e Probability of an event, (‘True/False)

(similar/congruemt)

---------------------

15. ]Wu t
u" \J = e . . # . " . 3
Ecnts drawn w the end points of diameter of a given circle

dre ﬂ'“’a}os .

16. Write formula for n" terms of an AP

dﬁu\m

(True/ l‘u/

)

7. x=2, y=3 js a solution of equation 3x+4yv=18.

I8. The value of sin A never exceeds 1.

Or

COSECZ A = e, e = 1 for 0° < A S 90°.

JWARM(SZ)IKUT2024—1003-Y
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P Culculate mean of first 8 natural numbers

S0 Write the formula for mode of grouped datat.

Or

_—
...........
R

It mean = 20, mode = 18. then median =

Section-B

2v

v
. _ | A _ . x===3 hy
21. Solve the pair of hnear cquations =+ EN -1 and 3 g

elimination method.
_ - _ , 2 ERE
2. Find the roots of the quadratic equation \E-\ +Tx+3v2=0 by
fuctorisation.

|3

(iiven scg'():—_-)-. calculate all other tngonometne ratos.
'-

\RM(SZ)IKUT2024—1003-Y
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(9)
24. Find volume of sphere of radius 3 em.
Or

Caleulate the curved surface area of cylinder of radius 2 cm and

height 7 cm.

25. Find the values of v for which the distance between the points
P(2. -3) and Q(10, v) is 10 units.
Or
Check whether (5. =2). (6. 4) and (7, -2) are the vertices of an
isosceles triangle,

26. Find a quadratic polynomial, the sum and product of whose zeroes

| .
are V2 and 3" respectively,

§0ARM(S2)IKUT2024—1003 Turn Over .
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27,

28.

29.

( 10)

Section-C .. 3 cuy

Find the coordinates of the points which divide the linesegment

joining A(-2, 2) and B(2, 8) into four equal parts.
Find the area of a quadrant of a circle whose circumference is 22 cm.

Prove that the opposite sides of a quadrilateral circumscribing a circle

subtend supplementary angles at the centre of the circle.

Or

Two tangents TP and TQ are drawn to a cricle with centre O from

an external point T. Prove that :

£PTQ = 2/0PQ.

https://www.jkboseonline.com



30, Ji 18 & point on the side AD produced of a parallelogram ABCD and

BE interseets CD F. Show that :
AABE ~ ACFB

31, The diagonals of a quadrilateral ABCD intersect each other at the

point O such that f\Q:_C_O_ Show that ABCD is a trapezium.
BO DO

fad
[

. Prove that 6++2 is irrational. https://www.jkboseonline.com

33. An AP consists of 50 terms of which 3™ term is 12 and the last

term is 106. Find the 29" term.
Or
Find the sum of the first 15 multiples of 8.

Turn Over
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( 12)

34. One card is drawn from a well-shuffled deck of 52 cards. Find the

probability of getting :
(i]. A face card
(i) A spade
Section-D 4 e

35. A train travels a distance of 480 km at a uniform speed. If the speed
had been 8 km/h less, then it would have taken 3 hours more to

cover the same distance. Find the speed of the train.
Or

Find the value of K so that the quadratic equation Kv(x-2)+ 6‘=U

has equal roots.

https://www.jkboseonline.com




( 13)

. A solid iron pole consists of a cylinder of height 220 cm and base
diameter 24 cm, which is surmounted by another cylinder of height
60 cm and radius 8 cm. Find the mass of the pole, given that 1cm’

of iron has approximately 8 g mass. (Use n=3.14)

Or
From a solid cylinder whose height is 2.4 cm and diameter 1.4 cm.
a conical cavity of the same height and same diameter is hollowed
out. Find the total surface area of the remaining solid to the nearest
cm”.
37. From the top of a 7m high building, the angle of elevation of the

top of a cable tower-is 60° and the angle of depression of its foot

is 45°. Determine the height of the tower.

Turn Over
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( 14

I8 Evaluste

b l‘t"'j'! 00" + 4 nec? - '“"_J 4%
ain? 307 + cos’ N

Or

Prove the identiny

sinf =2sin*0

e g

‘ = tan 0
2¢o8 0 -cos0

10 tine interscets sides AB and AC of 2 AABC a D and F

respectively and g parallel to EC, prove that :

Or

A vertical pole of length 6 m casts a shadow 4 m long on the grount

and at i
at the same time a tower Casts a shadow 28 m long. Find th

height of the tower,

10%ARM(SZ)IKUT2024—1003-y
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( 15)

| the medi SIPT
0 If 'an of the distribution given below is 28.5, find the value

of x and v -
—
Class Interva) Frequency
—
0-10 - 5
10-20 | X
20-30 20
30-40 15
40-50 d
50-60 >
60
Total —
o R
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